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QUESTION 1

Click the Exhibit button. 

Users are reporting poor performance from an aggregate that is hosted on SATA drives in shelf 0. You review the
results from the sysconfig -a command for any unusual output. 

Referring to the exhibit, what should you do to solve this issue? 

A. Upgrade IOM3 to IOM6 modules. 

B. Add SSDs to the aggregate. 

C. Replace the SAS cable. 

D. Replace the drives. 

Correct Answer: A 

 

QUESTION 2

You want to aggregate throughput for a single LIF across several physical ports. 

In this scenario, which two ONTAP features would accomplish this goal? (Choose two.) 

A. broadcast domains 

B. unified target ports 

NS0-193 VCE Dumps | NS0-193 Study Guide | NS0-193 Exam Questions                                2 / 5

https://www.passapply.com/ns0-193.html
https://www.passapply.com/ns0-193.html
https://www.passapply.com/ns0-193.html


https://www.passapply.com/ns0-193.html
2024 Latest passapply NS0-193 PDF and VCE dumps Download

C. interface groups 

D. virtual IP (VIP) LIFs 

Correct Answer: CD 

Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.dot-cm-nmg/GUID-A8EF6D34-17174813-BBFA-
AA33E104CF6F.html https://library.netapp.com/ecmdocs/ECMP1401193/html/GUIDDBC9DEE2-EAB7-430A-
A773-4E3420EE2AA1.html 

 

QUESTION 3

Click the Exhibit button. 

An administrator enabled the NFS protocol on an SVM and created a volume to be used as a datastore in a VMware
environment. An administrator attempts to mount the NFS volume and receives the "Cannot mount / access an NFS
volume or file system" error. 

Referring to the exhibit, which step must the administrator take to solve this problem? 

A. Reorder the rule indexes. 

B. Change the security style. 

C. Assign the export policy. 

D. Change the access protocol. 

Correct Answer: C 

Reference: http://storageprofessional.blogspot.com/2015/12/ 

 

QUESTION 4

A customer fails to see any disks in SnapDrive for Windows but they do see them in File Explorer. Which two
statements describe what you should do to solve this problem? (Choose two.) 
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A. Unmap and map all the LUNs back to the Windows machine. 

B. Perform a rescan from the Disk Management MMC. 

C. Verify that the transport protocol is set to HTTPS. 

D. Restart the SnapDrive for Windows service. 

Correct Answer: BD 

Reference: https://community.netapp.com/t5/Data-Backup-and-Recovery-Discussions/Can-t-see-anydisks-in-
SnapDrive/td-p/71640 

 

QUESTION 5

Click the Exhibit button. 

The corp\eva user cannot access the payroll.xlsx file on the CIFS share that is called HR. The user is a member of the
corp\Domain Users group only. 

Referring to the exhibit, what is the problem? 

A. The user has no permission to access this share. 
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B. The user has no NTFS permissions for that file. 

C. The security style is not set correctly. 

D. The export policy is disabled. 

Correct Answer: A 
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